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Question ID : 26433066003
Status : Answered
Chosen Option : 4
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Question ID : 26433096016
Status : Answered
Chosen Option : 2
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Question ID : 26433069020
Status : Answered
Chosen Option : 3
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Question ID : 26433070335
Status : Answered
Chosen Option : 1
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Question ID : 26433056590
Status : Answered
Chosen Option : 2
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Question ID : 26433065964
Status : Answered
Chosen Option : 1
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Question ID : 26433059941
Status : Answered
Chosen Option : 4
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Question ID : 264330104950
Status : Answered
Chosen Option : 4
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Question ID : 26433079371
Status : Answered
Chosen Option : 3
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Question ID : 264330105147
Status : Answered
Chosen Option : 2
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Question ID : 26433068569
Status : Answered
Chosen Option : 1
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Ans 1 AR
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Question ID : 26433093109
Status : Answered
Chosen Option : 1
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Question ID : 26433068505
Status : Answered
Chosen Option : 3
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Question ID : 264330104964
Status : Answered
Chosen Option : 3
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Ans X 1.EXUIU
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Question ID : 26433067299
Status : Answered
Chosen Option : 4
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Question ID : 264330104838
Status : Answered
Chosen Option : 1
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& 2. (4,26, 416)
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Question ID : 26433068388
Status : Answered
Chosen Option : 2
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Question ID : 26433057790
Status : Answered
Chosen Option : 1
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Ans X 1.120
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X 4.124

Question ID : 26433067595
Status : Answered
Chosen Option : 2
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Question ID : 264330105084
Status : Answered
Chosen Option : 4
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Question ID : 26433069233
Status : Answered
Chosen Option : 2

Q.23 Three statements are given followed by three conclusions numbered I, Il and IIl.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

Some spices are medicines.
All medicines are chemicals.
No chemical is cheap.
Conclusions:

|. Some medicines are cheap.
Il. Some chemicals are spices.
Il. No medicine is cheap.

Ans X 1. Only conclusions | and 111 follow.
< 2. Only conclusions | and Il follow.
«” 3. Only conclusions:ll and Il follow.

25 4. All conclusions follow.

Question ID : 26433070398
Status : Answered
Chosen Option : 2
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Question ID : 26433076645
Status : Not Answered
Chosen Option : --
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Question ID : 26433068721
Status : Answered
Chosen Option : 2

Section : General Awareness
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Question ID : 26433082148
Status : Not Answered
Chosen Option : --
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Ans X 1. 39
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Question ID : 26433086699
Status : Not Answered
Chosen Option : --
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Ans 1 2CaS0:H,0
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Question ID : 26433066466
Status : Answered
Chosen Option : 2
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Question ID : 26433054472
Status : Not Answered
Chosen Option : --
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Question ID : 26433090706
Status : Not Answered
Chosen Option : --
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Question ID : 264330105350
Status : Not Answered
Chosen Option : --

Q.7 #$ 2022 % Aigw ¥ ¢ gEr & wu & 5 Tiftra fear mar g2
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Question ID : 264330105331
Status : Answered
Chosen Option : 3
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Question ID : 264330105210
Status : Answered
Chosen Option : 1
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Question ID : 264330105493
Status : Answered
Chosen Option : 1
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Question ID : 26433054486
Status : Not Answered
Chosen Option : --

Q.11 YR YeT fag= YRIM (Indian Institution of Soil Science) FT $g Hel fUd 82
Ans X 1. YgR

o 2. Y|

X 3. URIR

X 4. fazmETTTH

Question ID : 26433089214
Status : Answered
Chosen Option : 2
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Question ID : 264330105471
Status : Not Answered
Chosen Option : --
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Question ID : 26433085283
Status : Not Answered
Chosen Option : --
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Question ID : 26433086798
Status : Answered
Chosen Option : 3
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Question ID : 26433064090
Status : Not Answered
Chosen Option : --
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Question ID : 264330105399
Status : Not Answered

Chosen Option : --
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Question ID : 26433086746
Status : Not Answered
Chosen Option : --
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Question ID : 264330105643
Status : Not Answered
Chosen Option : --

Q.19 YR ¥ AT W= Ft @it wur A2
Ans X 1.1977 91979

o 2. 1978 ¥ 1980

2 3.1976 1 1978

X 4.1975 91977

Question ID : 26433064512
Status : Answered
Chosen Option : 2

Q.20 are those where a monthly instalment is deposited in the accounts every
month.

Ans X 1. reinvestment deposits
< 2. savings bank deposits
/< 3. fixed deposits

«” 4. recurring deposits

Question ID : 264330105379
Status : Answered
Chosen Option : 4

Q.21 WRHEH Hsell B TATIAT T wiifer @ & fore &rf w1 & o &t 718 <t
Ans X 1.1820

< 2. 1850
 3.1840
< 4.1830

Question ID : 264330105585
Status : Not Answered
Chosen Option : --
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?

Ans X 1.9@
2. AT
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Question ID : 26433071505
Status : Answered
Chosen Option : 2




Q.23 fipdpe ¢ A9 A UiSH AP (@9 Seda) fhart aag & g g 82
Ans 1 40 e

X 2.25fC

X 3.35fC

X 4.30 e

Question ID : 26433071564
Status : Answered
Chosen Option : 1

Q.24 gfe IeT PR G I1oT TRATSHT P ISP UTe ITel b BriehIer b 3d A Tga HIT B
TR, AAMARW__ & fier ¢ g9 A =il

Ans ,,/1.@:1:1%‘1%!
X 2. TH HEH
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X 4 AT

Question ID : 26433069893
Status : Answered
Chosen Option : 1

Q.25 HUq I BT GRITTS BT UT?
Ans X 1. g

X 2. 3ayfa

3.9

& 4 AR

Question ID : 26433082252
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q1 A & 77 arferet € Hufra grRT SN 1€ TaeR P wEm Bt guld B

AT
deFey| P Q
T1 60 o0
T2 40 50
T3 80 100
T4 90 120
TS 110 150

I U GRT S 1T 3R T5 B W1, 1 HU §IRT I Y ex T2 F1 T A
fraa wior=ra sif¥re 32

Ans X' 1.172.44 Ufa=id
X 2. 162.66 UfcRId
< 3. 266.32 Ufa=d
« 4. 188.88 UfcrRrd

Question ID : 264330105706
Status : Answered
Chosen Option : 4




Q.2

1.6x1.6x1.6—0.6%0.6%0.6
HHA__ el
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Ans X 1.0
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Question ID : 26433079804
Status : Answered
Chosen Option : 2

Q.3 Tf sech + tand = V5 &, Gl sech — tan® BT HIF JTd PHC|
Ans X' 1 5

';(2.5l
5
X3 4[5
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o 42
5

Question ID : 26433061770
Status : Answered
Chosen Option : 1

Q.4 I fdg A ¥ 8 a.m. T IAT I &l 7 SR St A fig B W 2 p.m. W ugaar 31 S
f&m, 39 fiig B R 8 a.m. W IaHT Y= Fval @ 3R I 3 fig A W 6 p.m. R ug=an 21
?%Amsmwmmm%mqwmw%aﬁmﬁaﬁﬁmﬁ

?

Ans X 1.9:42am
X 2.12:42 p.m.
o 3. 11:45a.m.
< 4.10:42 am.

Question ID : 26433079955
Status : Answered
Chosen Option : 3

Q.5 Tfg 18 cm 3R 8 cm FIUT ITA €1 9 9T U | TRf B §, <l T SUAfIS SRt Y@
) FaTE T P

Ans X 1.12cm
o 2.24cm
25 3.16cm
& 4.14cm

Question ID : 26433075024
Status : Not Answered
Chosen Option : --




Q.6 U safe A HTafy AT # 10% a1 HIURUT TS TR 215,600 ST U] Ud® goR ay &
g 98 fSfa e &) gau & Sear 71 4 adf & ofd § e ]|

Ans X 1.%6,655
X 2.%3,975
& 3. 36,864
X 4.%33,744

Question ID : 26433082400
Status : Not Answered
Chosen Option : --

Q.7 33 tan36.tan76 = 1 §, ST8T 76 TF = I g, Al cot158 PT A 1A HIYI

Ans X1-—\/§
<2 1
v3 -1

X4 43

Question ID : 26433083011
Status : Answered
Chosen Option : 3

Q.8 T BT I T WR 7T A1 6 km/h BT ITA |, ST 2 U 9P 155 | AT BI; b 2
km/h P} 916 ¥, 3 TP 4 a9 99; B I TP °e R fpar 3T o) 6 9% glugy
BT YIS f5am; fiFR 1 mis ¥ 10 9/, 3 TS °e a9 TaB: T 1= | TT; 3R 3a H 4
km/h F 916 9 9 3 9 H W A 3T SAPT 3G =16, km/h H, fpat (G gxrvera ®IH
a% quiifera) 872

Ans X 1.0.28
< 2.251.62
X 3.129.23
o 4.348

Question ID : 26433061594
Status : Answered
Chosen Option : 4

Q.9 gfgp=8.15,q=9.06 3N r=-17.21 g d, p3 + g3 + r3 - 3pqr BT A T EM?
Ans 1.0

K 2475
< 3.-3.81
&< 4.-5.62

Question ID : 26433075224
Status : Not Answered
Chosen Option : --




Q.10 Tt gl P ST P 12 cm IR 20 cm & 3R ITb Hal & ST B g 16 cm 1 Fo W
IYafg el YEmsit B T=I Ja S|

Ans X 1.2
X 2.4
& 3.3
X 41

Question ID : 26433085499
Status : Not Answered
Chosen Option : --

Q.11 YS BT T.UH.T. (ASA) HafTwar o w1 8, ot A 3R s wuRn: Ay & wivr ok
ool & T wea 872

Ans X 1. IS a9 FaiTaH FEand 8, afe I ISt @t diHT Yo aReR g

& 2. A Byl 99 Fafran g €, afe ue Bye & 2 H107 3R 3iaria Yo g By & 2
HIT 3R ST Yol & RIS B |

< 3. 3 B 99 Fafmaw Heand €, afe te Bys 3 2 Yo SR idrid s g By at
2 Y3t 3R 3fafd B0 P IR B

X 4. 3 B 99 T SR €, 3 Gl IS % 2 HI0T BT HIs I SR YT &7 HIS
1 g SRR T

Question ID : 26433071236
Status : Not Answered
Chosen Option : --

Q.12 TP TS DI 25% P AH T ST 741 81 fS S 120 SUA HH § 971 ST dF 15% BT gidti
A § Y Yeu AT 82
Ans 7 1.Rs.300
X 2. Rs.200
X 3.Rs.350

< 4.Rs.400

Question ID : 26433063466
Status : Answered
Chosen Option : 1

*F afy x*+ 1 = 15617, x > 0& A x + 2 @ AW AT HFeCl
Ans ¢1@

X2 4123

X3 4127

x4 121

Question ID : 26433083025
Status : Answered
Chosen Option : 2




Q.14
gfe 2sin 6 + 2 sin?0 = 2,fﬁ 2 cos*0 + 2 cos?0 BT HM T 8

Ans X 1.0
K 2.1
X 3.4
& 4.2

Question ID : 26433062668
Status : Answered
Chosen Option : 4

Q.15 3199 9 TP S P Rs.1,500 H WIST 3R WS Pt B1AA F 40% B g BT Rs.75 BT ATH

T $3 & e 3@ fam ufirera ge 3 g
Ans X 1.75%

X 2.15%
X 3.50%
o 4.25%

Question ID : 26433075316
Status : Answered
Chosen Option : 4

Q.16 i< w3 98, 175 3T 210 BT HewH GHYGA P (HCF) T B
Ans 1.7

K23
< 3.5
X 4.6

Question ID : 26433075088
Status : Answered
Chosen Option : 1

Q.17 wwmgam%%w&faﬂa}mm m2 g1 SR # TG} &1 b arell Ja el B8 P
T E?

A i 4 3m
X2 164/3m
v 3 8J3m
X4 124/3m

Question ID : 26433066258
Status : Not Answered
Chosen Option : --

Q.18 T THIUTE &, UgdT, goRT 3R THUT Ug HA: 51, 68 3R 108 § | T g Fa1 32
Ans X 1.83

& 2.81

X 3.82

X 4.84

Question ID : 26433066364
Status : Answered
Chosen Option : 2




Q.19 = far 7w g9 o T o1 g7 6 fafi Ry & v siw) @t qwifar 81 39 fwE A o
gﬂmg;laiasmo?.l o ARy fawa o e st &Y 31 weft 6 fawan & i gt siwt

U d emfar T R
P
7%
U
209%p
R
S 30%
11%

Q, S TYUT U T U S 3 T 82
Ans X 1.306
o 2.308
X 3.204
X 4.312

Question ID : 264330105767
Status : Answered
Chosen Option : 2

Q.20 Rs.720 Y HHTS W & U 65% @9 HdT ¢ | 98 fa-1 Turdar 82
Ans 7 1.Rs.252

< 2.Rs.251
< 3.Rs.253
< 4.Rs.250

Question ID : 26433075141
Status : Answered
Chosen Option : 1

Q.21 3f To THaETg Ays $1 Yo 16 V.10, B, @ ST 6T =72
A" @1 643 AR

X 2 81./3 a2
X3 32.f3 a2
X4 483 dad2

Question ID : 264330105814
Status : Not Answered
Chosen Option : --




Q.22

Ans

werdr foffes 1 3caes 39 9K 2
3eug | 2021| 2022

A 120| 150

B 160| 200

& 250| 300

D 60| 90

E 30| 50

= 110 132

HUAT 7 T 3cue & AT 3TadH e &=
 1.E

X 2B

X 3D

X 4.F

Question ID : 26433082517
Status : Answered
Chosen Option : 1

Q.23 A, B ¥ 40% e $1 31 G FIeTan? o1 v §U 9 BRf 31 /1 = | fpa=n wwg

Ans

A7, Fort B e 36 T § qR1 % wwpar 872
X118 &=

X2 9% T

v315 fea

X412 =

Question ID : 26433072977
Status : Answered
Chosen Option : 3

Q.24 A G 77 arfrepT uiT gHFERY gRT A< T SN A Ten H) quid B

Ans

EHIAET | el
P 30
Q 50
R 45
s 25
T 70
R GRT 31 715 $<ft &Y e &1 S GRT 0t 1S Hht &Y W | SrguTd .1 82
75 1.8:3
K 2.5:9
X 3.5:8
o 4.9:5

Question ID : 264330105720
Status : Answered
Chosen Option : 4




Q.25 Tfg AT 3fh] Y TS 52A6B7C, 33 A AU §, 3R A, B, C 3T &, df 2A+3B+C &1
IRPaH A ®:

Ans 7 1.23
K 234
< 3.32
X427

Question ID : 26433075308
Status : Answered
Chosen Option : 2

Section : English Comprehension

Q.1 Select the most appropriate meaning of the underlined idiom in the given sentence.

After the government interventions, the enrolment and retention of female students
have increased by leaps and bounds.

Ans 7 1. Swiftly

/< 2. Systematically
25 3. Gradually
< 4. Intermittently

Question ID : 26433071990
Status : Answered
Chosen Option : 3

Q.2 Select the option that expresses the given sentence in active voice.
I don’t like being seen in tears by people.
Ans X 1.1don't like myself to be seen in tears.
< 2. 1don't like people had been seeing me in tears.
/< 3.1 don't like people to see me in tears.

«” 4.1 don't like people seeing me in tears.

Question ID : 26433091862
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate meaning of the underlined word in a sentence.
The good weather has been a boon for many businesses located near the beach.
Ans X 1.fortune
25 2. luck
/< 3. Signal
«” 4. beneficial

Question ID : 26433070657
Status : Answered
Chosen Option : 4




Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

You must aware of friends who speak against you.
Ans ¢ 1. beware of
X 2. careful of
< 3. scarce of
X 4. caution of

Question ID : 26433088171
Status : Answered
Chosen Option : 4

Q.5 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. While India is home to 75 per cent of tigers in the world, the Global Tiger Day — as it
is also known — sees awareness events organised in the country, as well as
neighbouring Bangladesh and Nepal.

B. Its primary objective is to preserve the natural habitat of the tiger.

C. International Tiger Day was initiated in 2010, at the Saint Petersburg Tiger Summit.
D. This annual event, observed on 29 July, aims to create awareness on tiger
conservation.

Ans X 1.BADC
< 2.DCAB
X< 3.CDAB
« 4. CDBA

Question ID : 26433072382
Status : Answered
Chosen Option : 4

Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

One who runs away from law
Ans X 1. Fatalist

/< 2. Lunatic
«” 3. Fugitive
/< 4. Convict

Question ID : 26433072545
Status : Answered
Chosen Option : 1

Q.7 Select the sentences that contains no spelling errors.
Ans X 1.|saw the dress catalouge pieces of Asha’s corchiture collection.

/5 2. | saw the dress catalougue pieces of Asha’s couture collection.
«” 3. | saw the dress catalogue pieces of Asha’s couture collection.

5 4. saw the dress catalougue pieces of Asha’s corchiture collection.

Question ID : 26433060863
Status : Answered
Chosen Option : 3




Q.8 Select the correct indirect form of the given sentence.
He says to Gayatri, “You are writing an apology to the warden.”

Ans X 1. He tells Gayatri that she was writing an apology to the warden.
< 2. He told Gayatri that she is writing an apology to the warden.
/< 3. He says to Gayatri that she was writing an apology to the warden.

o 4. He tells Gayatri that she is writing an apology to the warden.

Question ID : 264330104603
Status : Answered
Chosen Option : 2

Q.9 Select the INCORRECTLY spelt word in the following sentence.
It is a deeply regrettable fact that deforestation has had a substantial consequenses
on the environment.

Ans X 1. regrettable
«” 2. consequenses
2< 3. deforestation

/5 4. substantial

Question ID : 26433058616
Status : Answered
Chosen Option : 2

Q.10 Select the option that can be used as a one-word substitute for the underlined group
of words.

While | was travelling in Europe, | met a man who drew maps.
Ans X 1. Arbitrator
/< 2. Geographer
/< 3. Anthropologist
«” 4. Cartographer

Question ID : 26433088616
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate meaning of the given idiom.
Eat humble pie

Ans X 1. To live a life of humility
< 2. To live in penury
< 3. To enjoy life'to the fullest

«” 4. To apologise humbly

Question ID : 26433063132
Status : Answered
Chosen Option : 3

Q.12 Select the option that can be used as a one-word substitute for the given group of
words.
Words that begin with the same letter, syllable or sound

Ans X 1.Pun
< 2. Metaphor
«” 3. Alliteration
< 4. Hyperbole

Question ID : 26433073360
Status : Answered
Chosen Option : 2




Q.13 Select the most appropriate synonym of the underlined word.

Although Edward had noble blood, his ignoble qualities made him incapable of taking
over the kingdom.

Ans X 1. Strange
X 2. Ostentatious
/< 3. Salient
«” 4. Unworthy

Question ID : 26433070510
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

Scores given by the members are to be consolidated and sent in the head office
immediately.

Ans X 1. No substitution
#< 2. at the head office
¢ 3. to the head office
/< 4. after the head office

Question ID : 26433089276
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate ANTONYM of the given word.
Abominable

Ans X 1. Worthy
o« 2. Admirable
2< 3. Delectable
/< 4. Detestable

Question ID : 26433063112
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate ANTONYM of the given word.

Feud
Ans X 1.Unfriendliness
& 2. Harmony
#< 3. Distrust
75 4. Destruct

Question ID : 26433060800
Status : Not Answered
Chosen Option : --

Q.17 Select the sentence with the appropriate use of preposition.
Ans X 1. Are you interested along with modern art?

/< 2. Are you interested with modern art?
/5 3. Are you interested into modern art?

«” 4. Are you interested in modern art?

Question ID : 26433073892
Status : Answered
Chosen Option : 4




Q.18 Fill in the blank with the correct collocation.
A gaggle of journalists sit in a/an foyer waiting impatiently.
Ans X 1. attic
25 2.ranch
< 3. croft
«” 4. hotel

Question ID : 26433090502
Status : Answered
Chosen Option : 3

Q.19 Select the correct passive voice form for the given sentence.
My brother likes cricket.
Ans ¢ 1. Cricket is liked by my brother.
5 2. Cricket was like by my brother.
/< 3. Cricket is like by my brother.
5 4. Cricket was liked by my brother.

Question ID : 26433092340
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate option to fill in the blank and complete the collocation.

| had a nice on my birthday with all my friends and relatives.
Ans X 1. opportunity
X 2. day
o 3. time

X 4. experience

Question ID : 26433073568
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

At most of the local dhabas and fast food joints, poor hygienic conditions (1) . The
2) occurs due to poor quality packaging material or (3) storage
conditions. Food cooked may not be washed or cleaned properly. It is low in (4) ,
rich in oil content especially trans fats which make one (5) , lousy and dull.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.entail
o 2. prevail
/5 3. sustain
X 4. assail

Question ID : 26433073418
Status : Answered
Chosen Option : 3




Q.22
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

At most of the local dhabas and fast food joints, poor hygienic conditions (1) . The
(2) occurs due to poor quality packaging material or (3) storage
conditions. Food cooked may not be washed or cleaned properly. It is low in (4) ,
rich in oil content especially trans fats which make one (5) , lousy and dull.

SubQuestion No : 22
Select the most appropriate option to fill in blank number 2.

«” 1. contamination
/< 2. concentration
< 3. purification
< 4. perfection

Question ID : 26433073419
Status : Answered
Chosen Option : 1

Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

At most of the local dhabas and fast food joints, poor hygienic conditions (1) . The
(2) occurs due to poor quality packaging material or (3) storage
conditions. Food cooked may not be washed or cleaned properly. It is low in (4) ,
rich in oil content especially trans fats which make one (5) , lousy and dull.

SubQuestion No : 23
Select the most appropriate option to fill in blank number 3.

2 1.neat

X 2. sterile

& 3. unhygienic
& 4. energetic

Question ID : 26433073420
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

At most of the local dhabas and fast food joints, poor hygienic conditions (1) . The
2) occurs due to poor quality packaging material or (3) storage
conditions. Food cooked may not be washed or cleaned properly. It is low in (4) ,
rich in oil content especially trans fats which make one (5) , lousy and dull.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans

o 1. nutrition
/< 2. condition
/< 3. proportion
/< 4. production

Question ID : 26433073421
Status : Answered
Chosen Option : 1




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

At most of the local dhabas and fast food joints, poor hygienic conditions (1) . The
(2) occurs due to poor quality packaging material or (3) storage
conditions. Food cooked may not be washed or cleaned properly. It is low in (4) ,
rich in oil content especially trans fats which make one (5) , lousy and dull.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1.skinny

" 2. obese
< 3. affluent
X 4. smart

Question ID : 26433073422
Status : Answered
Chosen Option : 1
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